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Ch 3 Practice Test Answer Key

Write A for Always, S for Sometimes, or N for Never in
the right-most column. (1 pt each, 4 points)

Write answer in this column

7
L' A triangle has 3 sides. 1 A
2. | If a median of a triangle is also an altitude of 2. AU \
the triangle, the triangle is scalene. M (d-‘.') 1505
3. | If an angle is selected at random from a 3. S
triangle, the angle is obtuse.
4. | if A =(0,0),B = (10, 0), 4.
and AB is rotated 90° with
respect to the origin, then , S
B will rotate to the point R
(0, —10). B IR
(A (0,0)  B(10,0)
5. Complete statements 2 & 3 and reasons 2 - 4. (5 points)
Given: Two triangles, AABC and
AABD, standing on a desktop
called f
BC=BD "
LABC =/ ABD D
Prove: AC = AD I c
Statements Reasons

Two triangles, AABC and

1. AABD, standing on a desktop
called f 1. Given
BC=BD

L ABC =/ ABD

2 | AR Y AB 2 | Reflevive
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6. Complete lines 2 - 4. (6 points)

Given: EK = HjJ
EF = G 5
A
Prove: LE=/H AS
HL
Statements Reasons
1. EK =Hj
KG=]JF 1 Given
EF = HG
) Ea = HF 2 | Add
.| AKEG 2 AT HF .| SSS
. | LE E o+t s | CPCTC

7. Complete statements 2°& % and reasons 2==-4. (10 points)

Given: (O T
[R=
e i T
Prove: TP =TW
—’i/—r & PO W g
J \ | ﬂ IA ,é
Statements T~/ \ Reasons ad
1. @0 1. Given
2. |ORZE0oV 2 | O=PE radll
3. | PO=0OW 3. Given
4 PR Z2WV RUEVP |4 | Sobtvact Ax
5. EREL-V 5. Given
6 <¥R.1_ S I 6. & = ﬂ.
. I ATRP 2ATVW T ATVp 7. SAS
8. | TP — T 8. CPCJC
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Supply the missing reasons in the proof
problem 8. (5 points)

8. Given: LEBC=/[FCB

bk 4&
forB C

B

I g

C

43
3x +.?£2‘1 oS

ay ==\
X =+

Y

[ ABF =/ DCE V N
CH= FB A D
Prove: AEHC is isosceles. B c
Statements Reasons
R 1 .EBC=/FCB 1 Given
2 L ABF is supp. tc LFBC. 2 If two angles form a straight angle,
{ DCE is supp. tqf_ECE. then they are supplementary.
3 LABF =/ DCE 3 Given ~
' N
& 2 .FBC=CECB s SUPPS OF &£/s ARE &
S 5 BC=BC s REFE
6 AFBC = AECB 6 ASA
7 FBe= EC 7 CPCTC
8 CH=FB 8 Given
9 EC=CH 9 [ra:)q\s :
10 AEHC is isosceles. 10 Q = SDS $ S0 A
Exercises 9 - 13 are 3 omts e
) o(h- SldeS
9. | The perimeter of ABAG is 43. a4 9.
AG =16, AB =x + 4, o
BG =2x + 2 \( 16
By solving for x, determine
whether ABAG is scalene, B . S Q S i:
isosceles, or equilateral. 2x +2
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10. 1y The circle has its center at the origin and passes 10.
r‘\ through (0, -5). Find the exact area of the circle.
= T 'z
L =5 | Asw e =maS > 25
11. | EC = 12,ET = 3x — 5, ~ SAS 11.
MLRET 3% + 10 N2 7 = xad A
On the basis of the given, what \j[?‘(/ (0= (0 "~T"ue'
must be the value of x? SR A
Is AVEC = ARET? 3x-5 CE =Tt
ZVEC 2 /rET (Vert Lsorey) =3 %-S
MLVEC =mLRET 12 =195
Sx- S Dx+(0 (o= 3. cALSE
aXx=1Q
=y = @
12.1 /p=1c = AB 2 AC A 12.
AB =3x +1, AC = 2x + 5, & )('-‘)*53
BC=x+vy x\
Solve for x. @ 13
If y < 2.97, then BC must be less 0
than what number?
B C
) B
ged+29)
Bcd (A%
13. | ARGH = AANE=) LGZLN =2 mLG=mLN 13.

GH = 10 2w+ = (Fw-6SE

mlG = 2w + 2, R A

m/ N = 17w — 658 bGO-‘-' WSw
By solving for w, tell G s -
whether or not AN is 2 £ 230 =S W
an altitude of AANE. Jdow

I£ AN olt+then N =Q0°=2.G
mile = 2 Ho+d)+2 = 8R¥A=Y0°
,’.\|E$,ma\—t-

W=l

AN s
an
albhde
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14. A triangle in which @two sides are 14.
congruent is called a(n tnangle mo'm
15. In the diagram, if BC = CD 15.
then in order to prove AABC H-C' must bb‘\é o
= AEDC by HL, what additional S
two sides must be congruent? EcC
16. In a triangle, what name is given to a 16.
line segment drawn from a verley to the med"an
midpoint of the opposite side?
17. H 17.
ZJ ALK or
g
ALE VAL A
If FH = FJ, name
the base angles. J
18. H 18.

If FH = FJ and
FO = FM, then
what property
justifies that HO = JM?

S'th‘ac}im







